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01 Al&H| 12,001,000 5,611,294 6,389,706
Ogd Saoll & SeddAY 3,780,000
= 2,700,000
< 1,080,000
O+ S+ol 42 SeIdIAY 4,900,000
[ 3,500,000
= 1,400,000
O&Jl MaHKIEMEXI 7 FHIAY 2,131,000
= 1,522,000
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E M

X=]

24
© XHoH Ol 2= = Xl Al FI:’_%

or™ 22| D

[yl

ot
MAX otd e

SA - FE - SRA(3H) - MRAE - BES

Ofl &F2H

MEE
Ofl &k2h

O
i
i

MOHIZE ML X7 AL

OADIEHS2ACIAIAE ALY

H

SRR

M

609,000
980,000
700,000
280,000
210,000
105,000
105,000

32,920

14,580

18,340

14,706

18,214

MHet2e iz At

M H

950,000
475,000
475,000

1,460,000

/510,000

401 AIZHIZ 20

M H

950,000
475,000
475,000

1,460,000

A510,000

01 AlZH|

OZ3ANE=E WaEsE)

—_

=2
S

OZotd

sX2el At (A5t E4)

OMt HZEAE 2

Od= A0S == FHIAIY

O
0
4
0g
=)
un
ra

ZHIA

O
oy
>
)
0
=)
o

BIAE

M H Mo M M UMY

M

950,000
150,000
75,000
75,000
200,000
100,000
100,000
200,000
100,000
100,000
200,000
100,000
100,000
100,000
50,000
50,000
100,000
50,000
50,000

1,460,000

/510,000

ol AZ XIS ol A At

ol
=

700,000

700,000

401 Al HIZL S 0HYI

700,000

700,000

01 A<l
OXoli?Ig X<

SHAAFS

700,000
700,000

700,000

=3 AKX ZHI

HH W

200,000
100,000
40,000
60,000

200,000
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2A:

E M

OFEI242| T

[yl

MAH= ol etd If

Sl THoHMES2HMA += (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 200,000 0 200,000
= 100,000
== 40,000
[Ea 60,000
01 Al&HI 200,000 0 200,000
OO0I=XI7 SZ ALK HHIALS 200,000
= 100,000
=S 40,000
s 60,000
SHETHOH OIS A (EX) 1,628,000 2,260,000 A632,000
< 488,400
s 1,139,600
401 Al HIZL 2048 1,628,000 2,260,000 632,000
= 488,400
= 1,139,600
01 Al&H| 1,628,000 2,260,000 632,000
O4A+2 AL &bl 745,000
= 223,500
o 521,500
OMoi?I= AL Sl 883,000
< 264,900
[Ea 618,100
ot 2e| 9,002,000 5,690,000 3,312,000
= 37,000
< 5,648,500
[Ea 3,316,500
ot =Xl 2 531,000 531,000 0
201 Ler23 | 11,000 11,000
01 At2t2lt] 5,000 5,000
OoctEXE S5 2= MH 5,000
2 5234l 6,000 6,000 0
OdtEAId=E sili= & HEmA2 6,000
401 AIEHIX R0 520,000 520,000
01 A28l 520,000 520,000
OdtEAIEE B & FX2el 440,000
OXlgotd N&===- M= MA At 40,000
OXlgotd FA2e] 4AEHS 40,000
GHETHOH Ol 2E AL (D 2FALRY) 7,455,000 4,143,000 3,312,000
= 5,218,500
Ea 2,236,500
401 AIZHIX S0HH 7,455,000 4,143,000 3,312,000
=S 5,218,500
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SN Rl
S AN otEEd e
Che: ot &el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 2,236,500
01 AlZ2H| 7,431,762 4,128,085 3,303,677
OG0t THoH ol 2 AL 7,431,762
—MOIXIE X7 1,449,762
< 1,018,500
Ea 431,262
—0l2& X+ 3,989,200
= 2,800,000
o 1,189,200
U EFSONEY 1,992,800
s 1,400,000
s 592,800
03 Al 20HHI 23,238 14,915 8,323
OB THOH Ol 2 AFS 23,238
—MOIXIE X7 1,455,000, 000%0. 36% 5,238
—0l2& X+ 10,800
U FSONEY 7,200
ot M=Kl 24 960,000 960,000 0
< 430,000
= 530,000
101 @124H| 100,000 100,000
M ORINZZ2NSE S 100,000 100,000
OdtdNgFzA 2= 212 100,000
401 A& HIX R0 860,000 860,000 0
= 430,000
o 430,000
01 A28l 860,000 860,000 0
Odt& N 2=, otat &4 860,000
== 430,000
o 430,000
=Jtotd |X2el 46,000 46,000 0
= 37,000
= 9,000
201 er23| 9,000 9,000
01 At2teltl 5,000 5,000
O=Jtotd ot&a 22 5,000
02 S3=gHl 4,000 4,000 0
O=Jtotd MYRA 24 Itef2el 4,000
401 AIEHIZ SR OHYI 37,000 37,000 0
= 37,000
01 Al&H| 37,000 37,000 0
O=Jlotd F A2l 37,000
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S AN otEEd e
=HSE (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| 2 37,000
S=MFAIEA 10,000 10,000 0
401 AIEHIZ SR OHYI 10,000 10,000
01 Al&HI 10,000 10,000
OR+=MFAIE H=F 10,000
SAlS SEH 2 1,085,524 1,414,244 328,720
< 21,000
o 1,064,524
S2MAE 29 1,085,524 1,414,244 A328,720
== 21,000
o 1,064,524
VSN 2524 789,724 801,044 241,320
201 =3 532,724 502,844 29,880
01 AtR2t2lt] 41,800 41,104 6%
OSEAMME 2928 2
300,000 * 1204 3,600
Od=)| dEg 40,0003+ 120H 2 480
O3J1838)| dgg
30,0002 *3CH*120H 1,080
Odged| HoZH ua & 4
500,000 <22 1,000
OZNIHE PC HHOI A Al £ 4,600
OSE2HHE X 29,040
—=3H| 60,0003 x1H+365 21,900
— &Y 60,0003 x1H*119&! 7,140
OSS2NHE dR=8 S| 2,000
2 s5=34l 490,924 461,740 29,184
OS2 dS3d AlE=
96,8003 24000 A+ 12002 218,784
OSE2HHE &I A28 29,760
— S22 1,500,000& 1290 & 18,000
—&E v 7,0003 % 14000 A+ 12002 11,760
OCCTV & HAMEE| RA2= 182,380
—SEZNHE MAE 122,380
—0rSYY CCTV(12h &¢) 60,000
401 Al HIZL S 0HYI 150,000 200,000 /50,000
01 Al&HI 150,000 200,000 50,000
OV X & wH 150,000
405 KHaHF =4 77,000 98,200 221,200
01 ML ESFSHI 77,000 98,200 21,200
OSE2MHE D=3t 77,000
—CCTV SYMNEEX 54 55,000
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SN iR
33 A9 e84 25l
el SE2MAE =29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ZHIAIAE 2ol A F e
440,000 *50K 22,000
LHE CCTVEXl At XI& 105,000 100,000 5,000
S 21,000
o 84,000
401 Al HIZ S 0HHI 105,000 100,000 5,000
== 21,000
o 84,000
01 Al&HI 105,000 100,000 5,000
OYdHE VA XI (X&) 105,000
< 21,000
s 84,000
OISEEAE 2= 220,800 513,200 A292,400
201 et23| 20,800 13,200 7,600
02 S3=gl 20,800 13,200 7,600
Onfggaat)| 243
900,000+ 122 10,800
OtrsgsEtl |2l 10,000
401 Al HIZL S 0HYI 200,000 500,000 A300,000
01 Al&HI 200,000 500,000 300,000
Oll=RdgsAE 25 200,000
Hegs(erdzte| ) 240,000 200,000 40,000
LIS HHKIE 240,000 200,000 40,000
Met2eDls &S 240,000 200,000 40,000
mJlsdEs 240,000 200,000 40,000
UIPIETSE—= 240,000 200,000 40,000
Olt2eDI=dE= 240,000
A 2I3H(LH2A2|) 41,556 43,680 N2,124
=8l 41,55 43,680 N2, 124
etz it Jl=&3 41,55 43,680 N2, 124
201 ZBt=Ehl 17,4% 18,360 A\B64
01 AtR2t2lHl 17,49%6 18,360 A864
OsAHH &t 13,824
O=<tl S0t 3,672
202 04l 19,200 20,520 1,320
01 SLHoIH 19,200 20,520 1,320
OS A0t 19,200
203 HE=AH] 4,860 4,800 60
MU A2 LRFAI 4,860 4,800 60
Oerdzte|lt FM2S 4,860
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